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@2 Write an equation of the line with a slope of -4 and

a y-intercept of 1. _

—

2. Write a slope-intercept equation of the line that

pass@rough the given points. (—2, ‘l,), (°9 —§,) |
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3. An electronics game store sells used games for
$12.99 with a $20 membership fee. Write an
equation that gives the total cost to become a
member and buy games as 3 functio ~bf the
number of games that are purchased. Then find
the cost for 6 games.
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4. Write an equationin BOTH slopel/intercept and )

point-slope form of the line that passes through /

(6, —4) and has slope 2 Then Graph.
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Write 4 equatlons of the line that passes through +
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O (-1, —6) and (3, 10).
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7. Write the\slope- mtercepﬁaquaho‘]of the line that
passes through the|point (-1, 4)] and 7™
is parallel to the line y =Gk - 2. #m=~ g5 ¢ 5,;0
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8. Write theslope-intercept equation of the line that
passes-through-thepoint(=l;=I)and
is perpendicular to the line |
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Write thelSLOPE INTERCEPT!form of the equation of the line described.

1) through: (2, 5), perp. to y :@: -5 ; 2) through: (3, 3), perp. to y @ j’?
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Write theEOINT—SLOPE form jof the equation of the line described.
1) Parallel lines have the same slopes.

2) Perpendicular lines have the negative reciprocal slopes.

3) through: (5, —5), parallel to y = @ 4) through: (2, 3), parallel to y @rﬂ
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Write tlT{SLOPE -INTERCEPT form of the equation of the line described.

7) through: (-1,-3), parallel to y :@/Q 8) through: (3, 5), parallel to y:@ﬁ
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Write the slope-intercept form of the equation of the line through the given point with the given
slope.

9) through: (—4, 1), slope=-2 10) through: (—l, 5) slope = -3
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